
Math 447 - March 12, 2013 - Test 2

Name:

Read these instructions carefully: The points assigned are not meant to be a guide to the
difficulty of the problems. If the question is multiple choice, there is a penalty for wrong
answers, so that your expected score from guessing at random is zero. No partial credit is
possible on multiple-choice and other no-work-required questions.

1. (18 points) (Monty Hall, Episode 2) Having won $100 by selecting the queen of hearts
(Q♥) on the previous episode of our game show, you have been invited back. Today there is
a new twist: you are shown six cards, all face-down, of which one is the Q♥, three are black
spot cards, and the other two are the black queens (Q♠, Q♣). The objective is to select the
Q♥, which wins $100. However, selecting either black queen carries a penalty of $50. (You
still have the $100 you won in the previous episode, so you can pay.)

As usual, the host lets you select a face-down card, and then shows you a black spot card,
which he can always do, because he knows where all the cards are. He offers then you the
opportunity to switch your choice to one of the four remaining face-down cards.
1.1 (6 points) Suppose you decide to switch, and that you select one of the remaining four
face-down cards at random. Let W be the event that your new selection is the (winning)
Q♥. Which of the following numbers is closest to P (W )?

(a) 0.08

(b) 0.12

(c) 0.25

(d) 0.33

1.2 (6 points) Again suppose (as in 1.1) you decide to switch, and that you select one of the
remaining four face-down cards at random. Let L be the event that your new selection is
one of the (losing) black queens. Which of the following numbers is closest to P (L)?

(a) 0.50

(b) 0.40

(c) 0.33

(d) 0.25

1.3 (6 points) Which of the following statements is most accurate?

(a) The decision to switch cards increases the probability of getting a losing card, and
decreases the expected value from playing the game.
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(b) The decision to switch cards increases the probability of getting a winning card, and
increases the expected value from playing the game.

(c) The decision to switch cards decreases the probability of getting a losing card, but does
not change the expected value from playing the game.

(d) The decision to switch cards increases the probability of getting a winning card, and
increases the probability of getting a losing card.

2. (12 points) (Monty Hall, Episode 3) Having won another $100 in Episode 2 by selecting
the Q♥ again, you are invited back for Episode 3. Once again you are shown six cards,
all face-down, of which one is the Q♥, three are black spot cards, and the other two are
Q♠, Q♣. The prize for selecting the Q♥ is again $100, and the penalty for a black queen
(as before) $50.

Once again you select a card at random from one of the six face-down cards. And now
comes the twist of Episode 3: your host offers, for a fee, to show you a black queen instead
of showing a black spot card. (Remember, the host can always do this because he knows
where all the cards are.) After you pay the fee you may switch your selection to one of the
four remaining face-down cards.
2.1 (6 points) Suppose you decide to pay the fee, see a black queen, switch, and that you
select one of the remaining four face-down cards at random. Let L be the event that your
new selection is the remaining (losing) black queen. Which of the following numbers is closest
to P (L)?

(a) 0.18

(b) 0.12

(c) 0.06

(d) 0.24

2.2 (6 points) Which of the following statements about the fee to see a black queen is most
accurate?

(a) It would increase your expectation to pay a $15 fee to see a black queen, but paying
$20 would decrease your expectation.

(b) Seeing the black queen instead of a black spot card decreases your expectation, so any
fee paid is too much.

(c) Paying a fee of either $15 or $20 will increase your expectation, and you should be
willing to pay either.

(d) Paying a fee of either $15 or $20 will decrease your expectation, so you should be willing
to pay neither.

3. (20 points) As items come to the end of a production line, an inspector chooses which items
are to go through a complete inspection. Ten percent of all items produced are defective.
Sixty percent of all defective items go through a complete inspection, and 20% of all good
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items go through a complete inspection. Given that an item is completely inspected, what
is the probability it is defective?
a. (4 points) Establish notation: name the relevant events.

b. (4 points) What does the statement of the problem tell you about the probabilities of
the events named in (a)?

c. (4 points) Give an equation relating the probabilities in (b) to the desired answer.

d. (8 points) Solve the problem: given that an item is completely inspected, what is the
probability it is defective?
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4. (12 points) Let Y be a random variable with p(y) given in the table below.
y 1 2 3 4
p(y) 0.4 0.3 0.2 0.1
a. (4 points) Find E[Y ]

b. (4 points) Find E[Y 2]

c. (4 points) Find V [Y ]

5. (9 points) (A best-of-9 series) Two teams A and B play a series of games until one team
wins 5 games. (Tied games are not possible.) The results of the games are independent and
the probability of A winning each game is 0.7. The probability that the series lasts exactly
6 games is closest to

(a) 0.16

(b) 0.24

(c) 0.34

(d) 0.61
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6. (20 points) Two people took turns tossing a fair die until one of them tossed a 6. Person
A tossed first, B second, A third, and so on. Given that person B threw the first 6, what
is the probability that B obtained the first 6 on her third toss (that is, on the sixth toss
overall)?
a. (3 points) Let B be the event that B throws the first 6. Let T be the event that B throws
the first 6 on her third toss. In terms of B and T , what conditional probability does the
problem ask for?

b. (3 points) Give the definition of the conditional probability referred to in (a).

c. (4 points) Find P (B ∩ T ).

d. (10 points) Solve the problem, i.e. find the conditional probability referred to in (a).

7. (16 points) In southern California, a growing number of individuals pursuing teaching
credentials are choosing paid internships over traditional student teaching programs. A group
of eight candidates for three local teaching positions consisted of five who had enrolled in
paid internships and three who enrolled in traditional student teaching programs. All eight
candidates appear to be equally qualified, so three are randomly selected to fill the open
positions. Let Y be the number of internship trained candidates who are hired.
a. (4 points) The distribution of Y is

(a) binomial

(b) negative binomial

(c) Poisson

(d) geometric
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(e) hypergeometric

b. (4 points) Find the probability that exactly two internship-trained candidates are hired.

c. (4 points) Find E[Y ].

d. (4 points) Find V [Y ].

8. (20 points) Let Y be a Poisson random variable with parameter λ.

a. (4 points) Give the probability function p(y) = P (Y = y).

b. (4 points) Give the definition of the moment generating function m(t) of Y .

c. (4 points) From the definition of moment generating function, write down a series for
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m(t).

d. (8 points) Sum the series and give an expression for m(t).

9. (20 points) Let Y be a random variable with probability function given by p(−1) = 1
8
,

p(0) = 3
4
, and p(1) = 1

8
.

a. (1 point) Find E[Y ].

b. (4 points) Find V [Y ].

c. (6 points) One part of Tchebysheff’s Theorem gives an inequality for P (|Y − µ| < kσ).
State the other part of Tchebysheff’s Theorem (the other inequality).

d. (11 points) Let k = and Y be the random variable of this problem. Find both sides of
the inequality you gave in (c).

10. (6 points) Let a be a real number and Y a random variable. The variances V [Y ] and
V [aY ] are related by which of the following equations:

(a) V [aY ] = |a|V [Y ]
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(b) V [aY ] = V [Y ]

(c) V [aY ] = aV [Y ]

(d) V [aY ] = a2V [Y ]

11. (6 points) Let X and Y be random variables and consider the following propositions:

(1) E[X + Y ] = E[X] + E[Y ]

(2) V [X + Y ] = V [X] + V [Y ]

Which statement most precisely describes the conditions required for the truth of the above
propositions?

(a) (2) is true in general; (1) is true if X and Y are independent

(b) (1) is true in general; (2) is true if X and Y are independent

(c) both are true

(d) both are true if X and Y are independent
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